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QUESTION 1

An HP Comware switch supports FCoE in Fibre Channel Forwarder (FCF) mode. A switch interface Ten1/0/1 connects
to a server FCoE Converged Network Adapter (CNA). The CNA will carry normal data traffic and storage traffic for
VSAN 2. which is associated with VLAN 20. How does the administrator assign FCoE traffic for this CNA to VSAN 2? 

A. by accessing the VSAN 2 configuration view and specifying Ten1/0/1 as a member port of the VSAN 

B. by accessing the VLAN 20 configuration view and specifying Ten1/0/1 as a member port of the VLAN 

C. by setting Ten1/0/1 to FCoE mode and specifying VSAN 2 as the port access VSAN 

D. by binding a VFC interface to Ten 1/0/1 and specifying VSAN 2 as the VFC interface trunk VSAN 

Correct Answer: A 

 

QUESTION 2

HP Comware Switch 1 connects to servers with Converged Network Adapters (CNAs) that send data and FCoE storage
traffic Switch 1 should forward all FCoE traffic to an upstream FCoE switch. Switch 2 which will handle all the FLOGI
requests, zoning, and FC traffic forwarding. 

What is the correct FCoE mode setting for Switch 1? 

A. NPV 

B. FCF 

C. disabled 

D. hybrid 

Correct Answer: B 

 

QUESTION 3

A customer is deciding whether to purchase a switch in the HP 5900AF Series or the HP 5900CP series. Which need
requires the customer to choose the HP 5900CP switch instead of the 5900AF switch? 

A. enhanced visibility for VM-to-VM traffic and Ethernet Virtual Bridge (EVB) solutions 

B. OpenFlow support and compatibility with HP software-defined networking (SDN) solutions 

C. LAN/SAN convergence support and native FC port connections 

D. support of 10GbE to the server edge and 40GbE uplinks 

Correct Answer: D 
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QUESTION 4

Refer to the exhibit 

An administrator is setting up an MPLS Layer 2 VPN between customer Sites 1 and 2 and is defining the pseudo wire
(PW) ID for this purpose. How should the PW IDs and router values be configured? 

A. Set the PW ID to a different value on PE-1 and PE-2 The value on each router must match the label advertised by
the peer for its loopback address. 

B. Set the PW ID to a different value on PE-1 and PE-2 Also use a different value from other PWs on these routers. 

C. Set the PW ID to the same value on PE-1 and PE-2. Use a different value from other PWs on these routers. 

D. Set the PW ID to the same value on PE-1 and PE-2. The value on each router must match the S-VLAN ID for the
associated service instance. 

Correct Answer: D 

 

QUESTION 5

An administrator configures two VSANs on an HP Comware IRF virtual switch. The IRF members connect to a server
with two Converged Network Adapters (CNAs) One CNA is connected to VSAN 1. and the 

other is connected to VSAN 2 The storage target for the server is also connected to VSAN 1 and VSAN 2. What is
required for this setup to work? 

A. The HP switch must place the ports connected to the server CNAs in a link aggregation set to static mode 

B. The server CNAs must support multi-path I/O (MPIO) 

C. The HP switch must place the ports connected to the server CNAs in a link aggregation set to dynamic (LACP)
mode 

D. The HP switch must support multi-path I/O (MPIO). 

Correct Answer: A 
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